——a |
[
i 10.66 2.98
I Tl
1] -
o 498
T T ﬁﬁ : :
L S i |
1| 136.20 (E] EJD :
I [ -
U i
LI
24.43 | H ] i
[
PLANTA BAJA
J L 0O
[] 15.64
|| ] 54.24
1]
: — =
| (01
- 0|0
I
]
|
PLANTA SOTANO

12.62
4
H
C 9 ‘:'EJ‘:'L;F
519
r— "
|
15.41 l
5.75
d
13.28 —
17.52

[]

PLANTA PRIMERA

<44444444 N N I
]

PLANTA CUBIERTA

DISTRIBUCION Y CUBIERTA
1/100




L]

L TTTTT]

[TTTTTITTTTTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTTITTIT]
[TTTTTTITTITTIT]
[TTTTTITTITTIT]
[TTTTETTTITTIT]
[TTTTTTITTITTIT]
[TTITTTITTITTIT]
[TITTTTITTITTIT]
[TTTTTTITTITTIT]
LTTTTTTITTITTIT]
[TTTTTTITTITTIT]
[TTTTTTITTITTIT]

=
7
[
.

=
7
[
-

PARCELA, PLANTA SOTANO
1/100




7

/

i
ca D 0

)
o+

]

10
|

O]

BEE

1
||
J
I
[
-

I :I-I

PARCELA, PLANTA BAJA
1/100




